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Paper : DSE-B-2
(Russell : The Problems of Philosophy)
Full Marks : 65
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[ English Version ]
The figures in the margin indicate full marks.

1. Choose the correct answer (any ten) :

(2) Which philosopher has made the distinction between appearance and reality?

(i) Descartes (i) Spinoza
(iii) Russell (iv) Hegel.
(b) According to Russell, a phrase of the form ‘the so-and-so’ is
(i) ambiguous description (i) indefinite description
(i) - definite description (iv) proper name.

(¢) An example of synthetic a priori proposition is
(i) Every event has a cause (i) The sky is blue

(iii) Al fathers are males (iv) No triangle is a circle.

(d) How many kinds of self-evidence has been admitted by Russell?

(1) onekind (@) two kinds
(i) three kinds (iv) four kinds.
(e) Tand my ideas alone exist— this doctrine is known as
(i) dualism (i) scepticism
(i) solipsism (iv) critical theory.

() According to Russell, knowledge is of two types, they are—
(i) Propositional knowledge and synthetic knowledge
(i) Knowledge by inference and knowledge by memory
(i) Knowledge by acquaintance and knowledge by description
(iv) Knowledge by memory and a priori knowledge.
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(8) According to Plato, the truly real world is
(1) the world of universals (i) the world of particulars
(i) the world of relations (iv) the world of experiences.
() Who among the following philosophers advocated monadism?
(i) Spinoza (i) Berkeley
(iii) Leibnitz (iv) Hume.
() Which theory of truth did Russel] support?
() correspondence (i) coherence
(iii) pragmatic (iv) None of these.
() The Absolute Idea, therefore, is adequate to describe Absolute Reality— Whose view is stated
here?
(i) Plato (i) Hegel
(i) Berkeley (iv) Bradley.
(k) The method of doubt which Descartes applied in his philosophy is
() extreme doubt (i) experimental doubt
(i) ordinary doubt (iv) methodological doubt.
(D According to Russell, the knowledge of the table in front of me is
(i) knowledge by acquaintance (i) knowledge by description
(iii) a priori knowledge (iv) analytic knowledge.
2. Answer any five questions : 5%5
(a) What does Russell mean by description?
(b) Discuss Russell’s view against abstract ideas,
(¢) How does Russell distinguish between error and probable opinion? Discuss.
(d) Discuss, after Russell, the different reasons for admitting law of Uniformity of Nature,
(¢) What does Russel] understand by a physical object?
(f) What, according to Russell, are the entities that our a priori knowledge is concerned with?
(g) What are the three requisites mentioned by Russell, that any theory of truth must fulfil?
(h) Is solipsism logically possible? Discuss after Russell.
3. Answer any two questions :
(a) Explain the principle of induction. How does Russell show that this principle can neither be proved
nor be disproved? 5+10
(b) Write a critical essay on the value of philosophy. 15
(c) Critically discuss Russell’s arguments for rejecting Hegel’s theory of Reality. 15
(d) How does Russel] explain the controversy between empiricists and rationalists regarding our
knowledge of general principles? 15
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